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8x 10” *m’ ,
( )
1.5x 10" Pa, 70
P= Wi
W= Fe af=p= b3
F=p-S
P=pAV/i
: P= 1. 4W
2(2000 )
16%,
34%, ,
2 ( )
M 2 2
GMm/R’ = mg @
P= M/V @
V= 4TR/3; ®
DB  P= 3g/4TRG= 5. 6% 10°kg/ m’
0.34M 17, _
O = oley = gP= 12x
104kg/m3
M, Y
GMm/R*= mvl/R @

¢« 57 o



vi= JRg = 7.9% 10°n/ s @) 3
2
P= M/V ® M M o>

V= 4TRY3 @

O2E@®  P= 1.2x10%kg/ m’ ; :

’ 2.56 .
:S= ct=3.8%10°(m)

3(1997 )
6.4% 10°m, ’
’ 4(2000 )
—m( )
‘ ’ , 100%
: T= 30 A R
=2 6% 10° , , , ) ’ '
® 0= 5.67x 107 *W/ (m>K ¥
. R=696x10
km, T= S5T70K, r= 3.395x
’ ’ 10km, S= 4R, R
M m ( ) (1)
r T i i 2)
GMm/r" = mwr ©) TPz(r )
©=2WT @ 400
00 |
M/ = 4% T? ®
R, 2 2
GMm/R*= mg=GM = gR’
3
r= JgRTY/4T = 4 x 10°(m) (1)
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E = 4TRoT % ©)
E = 1.376x10°(J)

(2) T,
d,
v 4m30T24rv2: E ®
47 Ls
d = 400R; ,
E = T *r %4007 ®
E = 4% *
, P =

T = T/.J800, T= 24K

> >

5(2001 )
H 3He ,
s 2e+ 4%H_)42‘He+
; iH
10%,
H
(1) :
M R= 6.4% 10°m,
m= 6.0x 10"kg r=1.5% 10"m,
g= 10n/s"
3.2x10 M
(2) my,= 1. 6726 x 10" kg, 3He
ma= 6. 6458 x 10" kg, me= 0.9 x
10" Y%kg, c= 3% 100m/s

(3)
, E,= 1.35% 10°W/ m?,

15 4 ( 88 )

CMm/ 1> = mr(2W/T)’

g = Gm/R*

D@ ,M= m(2WT)r/R’g
, M= 2x 10¥kg
(2) .
AE
“AE= Amc?
Am= 2m - Zm
S AE= (4mp+ 2me— ma) ¢
, NE= 4.2x 107 %]

(3) ;
N= M/4m, x 10%,

E= N-* AFE

B

€= 477+ E,

t= E/€
GuI6OW)
0. 1M (4m, + 2m.— mq)
4m, x ATFE,

B B

, t= 100
(D (2 )
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(1) 1791 :

R( )
(2) 1.5% 10" m,
2/3
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, n= 45%E* M he= 4.9 x 10"

E =~1.87x 10%] :
7% , 35% , E

1kg 2.2x 10%) )
( , 4TR?)

: 2TR/ 4= 1.00x 10/,
R=2x10"/ T= 6.37%10°(m); \

E =1
87 x 10%], m, . ,
m=E (1- 7%) (1- 35%)/2.2x 10°= 5. 14 x , i
10"kg h, h=
m/ Pes s =4TR%,  h= 1.01x 10’mm 8( 2000 )
’ " Umt
3 i 6¢f .
u?t
600
, ’ 77
2 2 ' 1
) i 1
. v /v o= t/v t=1830°=J3/3,
s ) v /v = 0.58.
7(1992 ) , ,
1.4x 10°] 9(1999 )
45%. 0. 55km, 1. 8m,
’ 1 8m
R=1.5x10"m, h=6.6% 10 *JS,
? (g= 10m/s2)
_ )
> > s , 1. 8m
’ 0 9I'I1
E= 4TR*x 1.4x% 10’ ®
45%FE = n* he/ A ©) (E#F T0M)
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( 60 )
H = v%/Zg =>vo= J2¢H = 4m/s

10( 1994 )
50kg, 180 ,
2/5,
(g= 10m/s%)
to= 1/3(s)
, t= 0.1(s)
W= mg(gt’/2)= 25W
P= W/to= 75W
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